
 

TB103 - Torque arm fixing on the XL+.doc  1 of 2 

TB 103  
                               

TECHNICAL BULLETIN 
 
 
 

 
For the Attention of :  Direct and sub-contract installers 
Date : 23/9/10 
Product : Midilift XL+ 
Subject : Torque arm fixing assembly 
Pages : 2 
 
Originator :  Stannah Lifts Ltd, Anton Mill, Andover, Hants SP10 2NX 01264 339090 
 
 
 
Detail 
 
It has been bought to our attention that there is the possibility on the XL+ lift of the 
rubber insert on the motor torque working its way out of the fixing assembly and 
allowing the motor to move along the shaft.  
This issue was recorded as a near miss on a recent site. 
A design change has been implemented to include the use of a larger M20 washer. 
 
 
Summary 
 
The following page illustrates how the fixing arrangement must be assembled to 
ensure that the motor cannot separate from the torque arm. 
If you have any queries relating to this issue please contact the design dept at 
Stannah Lifts. 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

SAFETY ISSUE 



 

TB103 - Torque arm fixing on the XL+.doc  2 of 2 

 
  
 
 
 
 
 

M20 X 60 HEX HD BOLT

M20 PLAIN WASHER

M20 LARGE WASHER

M20 SPRING WASHER

M20 NUT


